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1 I 4 "E R | B 5 T | I5EERTE | 15~648% | 65mLA L
¥ ¥ 46,758 117,865 61,204 56,661 20,945 90,458 6,462
W% 1T H 816 1,919 1,073 846 334 1,496 89
Wo%E 2 T B. 986 2,301 1,222 1,079 345 1,763 193
W OFE 3 T B 643 1,677 875 802 222 1,221 234
MWOE 40T E 789 1, 844 932 912 226+ 1,375 243
%€ 5 T H 727 1, 480 787 | 693 174 1,123 183
L R B 1 T BH 1,141 2,410 1,210 1,200 293 1,903 214
¥ B 2 T H 1,709 3,700 1,981 1,719 560 |- 2,887 253
L2 B T H 781 1,857 | 981 | 876 332 1,379 146 |
I % 1 T H 1,214 2,237 1,130 1,107 334 1,804 99
dk % 2 T H 1,907 3,907: 2, 049 1,858 707 3,085 115
I % 3 T H 2, 069 4,170 2,228 1,942 675 3,338 157
d % 4 T H 877 2,025 | 1,051 974 388 1,568 69
¥ oL 1 T H 1,216 2,719 1,427 1,292 441 2,095 183
W o 2 T H 901 2,029 1,077 952 263 1,536 230
W o 3 T H 817 1,869 973 896 208 1,418 243
W L 4 T H 1,504 3,406 1,796 1,610 562 2,587 257
W o 5 T B 922 2,027 1,151 876 325 1,634 - 68
B’ L 6. T  H 821 1, 666 920 746 279 | 1,317 =70
E + R 1 T H 822 1,764 988 776 385 ’1, 326 53
g + R 2 T B 1,092 2,521 1,362 1,159 538 1,919 64
E + R 3 7T H 1,509 2, 966 1,741 1,225 519 2, 370 77
B+ R '4, T H 740 1,584 880 704 283 1,248 53
E L+ R 5 T H 1,165 2,322 1,354 968 396 1,881 45
wOF 1 T B 609 1,677. 883 794 403 1,230 44
® O 2 T H 678 1,603 902 701 292 1,247 64
w OB 3 T H 642 1,792 948 844 291 1,381 120
B@maEBDD 1T H 22 25 23 2 0 25 0
B 2T H 8 14 9 5 1 13 0
M@y 3T H 18 21 19 2 0 21 0
¥ M 1 T H 222 748 350 398 70 632 46
= M 2 T B 538 1,849 904 1945 398 1,395 56
g M 3 T H 1,347 4,342 2,152 2,190 840 3,328 174
5 MM 4 T H 259 834 436 398 117 646 71
4 g1 1 T H 497 1,001 522 479 161 805 35
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Y % G # 5 = 15mEskim | 15~64m% | 65ELlE
4 )1 2 T B 628 1,261 607 654 154 1,042 65
4 J 3 T H 387 1,002 533 469 211 763 28
4 JIl 4 T H 528 1,458 721 737 177 1,211 70
£ XK 1 T BH 287 909 460 449 139 711 59
£ K 2 T 8B 556 1,836 889 947 156 1,547 133
£ K 3 T H 479 1,558 784 774 222 1,262 74
£ K 4 T H 313 1,073 539 534 145 844 84
w &% 1 T H 1,325 3,125 1,690 1,435 564 2, 364 197
W % 2 T H 1,136 2, 945 1,537 1,408 453 2, 300 192
A 8 1 T E 145 146 107 39 0 145 1
A fi8 2 T H 773 2,622 1, 306 1,316 553 2,006 63
A f 3 T H 580 1,997 1,010 987 321 1, 601 75
A s 4 T H 691 1,736 908 828 252 1,391 93
A 8 5 T H 308 1,121 526 595 200 871 50
A fs 6 T B 793 2,774 1,348 1,426 524 2,120 130
£ & 1 T H 1,118 3,327 1,604 1,723 851 2,338 138
x & 2 T H 913 2,918 1,443 | 1,475 709 2,056 153
£ & 3 T H 425 1,426 698 728 209 1,'121 96
% & 4 T H 477 1,560 748 812 192 1,256 112
£ & 5 T H 924 2, 995 1,431 1,564 565 2, 330 100
= k& 2 T H 691 2,432 1,183 1,249 532 1,769 131
# JE 3 T H 198 678 333 345 151 489 38
# i 0 0 0 0 0 0 0
H A 10 33 20 13 10 23 0

D i 2,309 6,278 3,282 2,996 1,625 4,331 322
I 16 17 16 1 0 17 0
740 2,332 1,145 1,187 668 1,554 110




